
Please keep this manual as it contains important information.

© The Little Tikes Company,
an MGA Entertainment company.
LITTLE TIKES® is a trademark of Little Tikes in the U.S. and other
countries. All logos, names, characters, likenesses, images, slogans, and 
packaging appearance are the property of Little Tikes.
Little Tikes Consumer Service
2180 Barlow Road
Hudson, Ohio 44236 U.S.A.
1-800-321-0183
Printed in China1013-1-C

www.littletikes.com

Visit our website at 
www.littletikes.com 

to register your product and 
to enter our sweepstakes. 

(No purchase necessary)

634031C

Learn to Pedal 3-in-1 TrikeLearn to Pedal 3-in-1 Trike

ADULT ASSEMBLY AND SUPERVISION REQUIRED

12

Ages: 18-36 Months

Tool required

B

E

A

W

V

Q

P

D

K

T

S1

T1

S

G

Included 

M1 x 1 
M2 x 4

M3 x 1  

M4 x 2  

M6 x 1  

M5 x 2

R
C

H L

The Little Tikes Company makes fun, high quality toys. We warrant to the original 
purchaser that this product is free of defects in materials or workmanship for one year 
from the date of purchase (dated sales receipt is required for proof of purchase).  At 
the sole election of The Little Tikes Company, the only remedy available under this 
warranty will be the replacement of the defective part or replacement of the product. 
This warranty is valid only if the product has been assembled and maintained per the 
instructions. This warranty does not cover abuse, accident, cosmetic issues such as 
fading or scratches from normal wear, or any other cause not arising from defects in 
material and workmanship. 
U.S.A and Canada: For warranty service or replacement part information, please visit 
our website at www.littletikes.com, call 1-800-321-0183 or write to: Consumer Service, 
The Little Tikes Company, 2180 Barlow Road, Hudson OH 44236,
U.S.A. Some replacement parts may be available for purchase after warranty expires 
contact us for details.
Outside U.S.A and Canada: Contact place of purchase for warranty service. This 
warranty gives you specific legal rights, and you may also have other rights, which vary 
from country/state to country/state. Some countries/states do not allow the exclusion 
or limitation of incidental or consequential damages, so the above limitation or exclusion 
may not apply to you. This product is not intended for daycare or commercial use.

LIMITED WARRANTY ENG

N x 3

X



112

Please save sales receipt for proof of purchase.

ADULT ASSEMBLY REQUIRED.

ASSEMBLY HINT
IMPORTANT: Assemble all parts together loosely at first. Check that assembly is correct then tighten locknut and screws.

MAINTENANCE & CLEANING

DISPOSAL
• Disassemble and dispose of equipment in such a manner that no hazardous conditions, such as but not limited to, small parts 
   and sharp edges, exist at the time equipment is discarded.   

Read entire instructions carefully before assembling this product.
WARNING: 

• Keep these instructions for future reference.
• Prior to assembly, this package contains small parts. The parts (including hardware) are choking hazards and 

may contain sharp edges and points.  Keep away from children until assembled.
• Ensure working area is free of danger, always dispose of packaging material in such a way that it may not 

cause any harm. Plastic bags can be dangerous. To avoid suffocation keep plastic bags away from babies and 
children.

• To prevent serious injury, children must not use the equipment until completely assembled.
• This product is intended for outdoor domestic family use only.
• This product is for private, residential use only (no commercial or public use).
• Adult assembly required choking hazard to children under the age of 3 years - contains small parts prior to 

assembly.

• Check all hardware during usage period and tighten as required. It is particularly important that this 
procedure be followed at the beginning of each season. If these checks are not carried out, the toy could 
overturn or otherwise become a hazard. Replacement should be made in accordance with the 
manufacturer's instructions.

• Do not attempt to modify or repair this product. For help contact Little Tikes Consumer Service.
• Clean trike with a slightly damp cloth (cold water) and mild soap. Never use a corrosive or abrasive 

substance to clean the product.

Age: 18-36 months

  WARNING: ASSEMBLY

STOP!

PLEASE READ INSTRUCTIONS 
BEFORE ASSEMBLING AND OPERATING.

 
•  Continuous adult supervision required.  
•  When assembling STAGE ONE and STAGE TWO of the tricycle, the backrest must be re-attached before allowing a 
   child to ride the tricycle.
•  Never use near motor vehicles.  
•  Never use near streets, swimming pools, hills, steps, or sloped driveways.  
•  Always wear closed shoes when using the tricycle.  
•  Never allow more than one rider on the tricycle.
• Instruct children on proper use of this product before allowing them to ride.
• This product is not to be used in a manner other than for which it is intended.
• It is recommended that rider always wear a properly fitted helmet that complies with U. S. Consumer 

Product Safety Commission (CPSC) standard 16 CFR 1203.
• Ride-on toys should be used with caution since skill is required in order to avoid falls or collisions which may 

cause injury to the user or third parties.

        WARNING! Not to be used by children over the age of 36 months due to size limitation.
• Maximum child‛s weight: 50 lbs. (23 kg).
• Safeguard the product against rolling away when parking it.

A B

C
D

E F G

WARNING:  TO AVOID SERIOUS INJURY: 

REMOVING SEATBELT
(Optional Stage Three)



310

STAGE THREE

1 32

Push hub IN to engage pedals.

LOCK

11 11

R

M2 x 4  

1 M2 x 4  

T1

S
HS1 R

PEG

SLOT

T

SLOT

PEG

T1

S1

H

T

S

SLOT SLOT

PEG
PEG

ASSEMBLY PARTS FOR STEP #1 BELOW
NOTE: Pages 3-8 show assembly for Stage One Trike. 
See Pages 9-10 for Stage Two and Stage Three Trikes.

L

L

IMPORTANT: Line up peg on S1 Part with slot on H Part.

T1
Short Piece

IMPORTANT: Line up peg on S Part with slot on H Part.

T
Long Piece

PressPress PressPress

A B

C

2 2

Remove latch. See illustrations 10-12.

11

22



94

5

1 32

M6
D

E

2

NX2

3 M3

M3

B

A

STAGE TWO

LOCK

1 32

A B

C D

LOCK

4

G
Leave Hub OUT to
disengage pedals.

PressPress PressPress

11 1111 11

22 22

H
A

M5X2



58

6

8

1

3

2

A

C

STAGE ONE

1 32

D

7 M4x2 
 

M4

V

Q

P

M1

W

P

9

Pull hub OUT to disengage pedals.

PressPress PressPress

11 1111 11

LOCK

UNLOCK

B

PressPress PressPress

11 1111 11

22 22



76

Learn to Pedal 3-in-1 Trike

Your Little Tikes® Learn to Pedal 3-in-1 Trike was created to grow right 
along with your child.  

IN STAGE ONE 
•  The seat is in a forward position to allow more comfort to the child.
•  A backrest and seat belt are installed for safety.
•  The pedals and handlebars of the trike are unlocked so that the child    
    cannot pedal or steer and the adult has all the control. 

IN STAGE TWO
•  The seat is in the middle position to allow more room for legs which have
    grown a bit.
•  A backrest and seatbelt are installed for safety.
•  The pedals are unlocked and the handlebars of the trike are locked so 
    that, as the adult pushes, the child can pedal and steer.

IN STAGE THREE
•  The seat is in the farthest position back from the pedals to allow more
   comfort to the older child.
•  The push handle, backrest,and seat belt have been removed for the older
    child.
•  The pedals and handlebars of the trike are locked allowing the child full 
   control of the trike. 

Have a look at the next few pages and you will find that changing stages is 
simple, takes just a few minutes, and guarantees many months of fun and 
comfort for both you and your child.

X

AAX

X A

X A

10

X

A

11

P

13

X A

12

1514

1716

AX


	634031C Little Tikes Basic 3-in-1 Trike 1-12
	634031C Little Tikes Basic 3-in-1 Trike 2-11
	634031C Little Tikes Basic 3-in-1 Trike  3-10
	634031C Little Tikes Basic 3-in-1 Trike 4-9_R1
	634031C Little Tikes Basic 3-in-1 Trike 5-8
	634031C Little Tikes Basic 3-in-1 Trike 6-7

